[ > DEIA:=diff(y(t),t$2)+2*diff (y (t),t)+5%y (£)=0;

2
DEIA ::d—zy(t) +2 (iy(t)) +5y(t) =0 1)
dl dt
_> Y:=dsolve ({DEl1ll,y(0)=1, D(y) (0)=0},y(t));
Y:=y(t) = % e 'sin(21) +e cos(21) 2
=> plot (rhs(Y),t=0..5);
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[ > DEIB:=diff(y(t),t$2)-2*diff (y(t),t)+5%y (£)=0;
2
DEIB =% y(1) —2 (iy(t)) +59(1) =0 3)
dl dt
[ > YB:=dsolve ({DE1B,y(0)=1, D(y) (0)=0},y(t));
YB:yU):—%Tdﬁm2ﬂ—+éam2ﬂ )

_> plot (rhs (¥YB) ,t=0..5);
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> DE1C:=diff (y(t),t$2)+4*y (t)=0;
2

DEH?;rggyU)+4yU)=0 (5)
f
[ > vC:=dsolve ({DE1C,y(0)=1, D(y) (0)=1},y(t));

YC:=y(t) :% sin{2 t) +cos{2 1) 6)

[ > plot (rhs (¥YC),t=0..5);
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